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letter preceding the selected answer. A
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Section B (40 marks) Working steps must be shown in answering questions in this

z IR (40 &)

31(a).

31(b).

32(a).

32(b).

section unless specified otherwise.

FEP o b AR AN E B

Marks  Marks

ik A A
2 9
8 25 110 2
7
=310 2
: 7
He needed to swim BEkm at least.
2 9
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8.8x265 2
=2332 2
Mr Chan consumed 2332 kilocalories of energy by
swimming in total.
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She had 84 sticks with 15c¢m in length.
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33(a).

33(b).

34(a).

34(b).

Marks  Marks
A @A
4n+28%2 = 124 2
n=17 2
He spent 17 hours on cleaning the beach each of first 4
months.
4n—+28x2 =124 5
n=17 5
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Because (960*200)><z1 =570
$570 from Aaron’s donation would be used on | 1
the work of environmental protection and was
more than $550.(Accept any other reasonable explanation)
. 3
3P 960—200))(1 =570 2
FEF 2c P 5 $570%* *r TR %1 i F 1
528550 o (26 smpmss v %)
* (Agree/ disagree  (* Circle the answer) !
GRS AR RS e
May  had the largest number of new members, I
7" hRte B A Bk S
there were new members in total. 1
L5 #T€ R 78 A o 1
1 2
Each employee was awarded 2 bonus(es) from
March to June in total.
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34(c).

35(a).

35(b).

36(a).

36(b).
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Marks  Marks
b A & a
125X(30+20) 2
= 6250 2
Fitness center got $6250 in April.
125X (30+20) 2
= 6250 2
id s e P LT g R § $6250 - 4
Itisa pentagonal prism
TR E- B I &fr o
15 sticksand__ 10  plastic beads are used.
* 7 15 w=7ngf_ 10 k%o 2
The cross section is a/an triangle
eRBAL__Z b7
The shape is */ not the same .
S NCGID LR
The size is * the same /. (* Circle the answer)
Sl gk /G ARR: (FBLYE %) 2
25%20%12 ,
= 6000 2
The volume of this cake box is 6000cm’.
25x20x12
= 6000
i 1B Bk £ PHAE 2 6000cm’ - 4
15x12 + 145%x4
=760 2
She should pay $760. 2
15x12 + 145%x4
2
=760
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